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a‘ 0= 200+ ay
)
- @ [=F, =0 N — 400 cos 30° = N =346 1b
!
g and its equation of motionin the x-direction gives
R |
1 (EF, = ma] 0.5(346) — 27 + 400.sin 30° = 200
= 32.2
;\ For the block in the positive downward direction, we have
Z © [+ | TF =mal 25&—'I‘=%aﬂ
) '
= g
qQ_ | = 5,83 fr/sec’ e = —2.62 ft/sec® T=2051h
|
*Sh 250 Ib 1+
b,
+ [t?=Zax] vy = 2(5.83)(20) = 15.27 fi/sec
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3 YA« o pod 3 = B - _ F. -
3 H, = H,, = 3(mré)r = 3mr2d tsema A=A =gt
(EM; =H, Fb= 4 (8mr26) = 3mr?i 50 g = Fb.
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o poi Voo & [4000 -3
e R n = == == = 20 rad&
““TNm V10 racs
Fy 100
=—=—2= 0025
* =% T 3000 "
o 5 .)
f=—m = — 20 = 0.05
Ce 2%kmo 2V(4000)(10)
wy = V1 = Pw, = V1 = (0.05%20) =19.974984 radsk
b 10
w, 20
By 2 .
X =— — = = - — 0.003 —=0.03326m (EI)
VT =T+ 2007 (1 — 00597 +(2:0.5-05)% /2
20r 20,0505
& =tan” [ — j = [ T | = 3814075 (E2)
1 — 2, I — 0.5
Using the initial conditions, xy = 0.0 and Xg = 0, Eq. (3.36) yields:
0.01 = X, cos ¢, + (0.03326)(0.997785)
Xo = [(X cos dg)? + (Xp sin )2 ] /? = 0.023297
b = 20 B0 078176
tandy = —— = (LOYTELT6
A cos dy
dy = 3.586765°
x(1) = Xge™¢ ! cos (wgt — dy)
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